Exponencialni rovnice
Priklady FreSené pomoci logaritmu
Reseni pfevodem x=a" = y=log, x

1) 5=4
x=log,5
x=1,16
P={1,16}
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x—-3=log,5
x=3+log,5
x=15,32
P={5,32}
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Reseni logaritmovéanim

1)

2)

3)

5=4"

5=4" /log
log5 =log4*
log5=x-log4
x_logS

_10g4
x=1,16
P:{1,16}

27 =5
27 =5 /log
log2*”> =log5
(x—3)-log2=1log5
x-log2—-3-log2=1log5
x-log2=log5+3-log2
o log5+3-log2

log 2
x=5,32
P={5,32}

4.32):—1 :7
4.377 =7 /.4

7
3 == /lo
4 g
7
log3>™ =log—
g g4
7
(2x—1)-10g3=10gz
7
2x-10g3—10g3=10gz
7
2x-10g3:10gz+10g3

7
log —+1og3
g4 g

2-log3
x=0,75
P={0,75}



